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QUESTION 1

At which level you can apply a backup policy? 

A. cluster 

B. datacenter 

C. vCenter Server 

D. datastore 

Correct Answer: B 

 

QUESTION 2

In an HPE SimpliVity 10-node cluster, a simultaneous increase of 10 requests across several VM caused a surge in 10
traffic in a single node. Which HPE SimpliVity feature can evenly distribute the 10s across the cluster? 

A. Resource Balancer 

B. Management Virtual Appliance 

C. Arbiter 

D. Intelligent Workload optimizer 

Correct Answer: C 

 

QUESTION 3

What does HPE Reference Architectures for HPE Simplicity provide? 

A. solution pricing and possible discounts 

B. recommended hardware configuration in ne Config Advanced (CA) format 

C. validated configuration for a specific workload 

D. comparison with equivalent competitor offerings 

Correct Answer: C 

 

QUESTION 4

What is the difference between crash consistent and application consistent cloning methods? 

A. Application-consistent clones allow the pending 10 operations to finish before committing them to the database. 
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B. Both methods are the same; the only difference is speed of cloning. 

C. Crash consistent method should be used only for the virtual machines with Fault Tolerance enabled. 

D. Application consistent method is available only for Linux operating systems. 

Correct Answer: C 

 

QUESTION 5

A customer plans to use HPE SimpliVity RapidDR, but is concerned about vCenter Server license cost. In which
deployment scenario is only a single vCenter Server required? 

A. when less than 600 VMs is covered with a single recovery plan 

B. when Enhanced Linked Mode is enabled for vCenter 

C. when Intelligent Workload ptimizer is disabled 

D. when federation is managed centrally 

Correct Answer: D 
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